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HHRLT W 68.30 + 1.50 + 1.40 nf 71 71.20
A T IE WE+ 138.90 + 3.00 + 2.80 m 145 144.70
Heph T 138.90 + 3.00 + 2.80 i 145 144.70
PR As 1295 + 0.30 + 0.30 m 13.6 13.55
PRy B As 1295 + 0.30 + 0.30 m 13.6 13.55
#JE T F/4EAs, t=3cm 129.50 + 3.00 + 2.90 f 135 135.40
AT RC-40, t=16cm 129.50 3.00 + 2.90 135 135.40
RN R F 235.50 540 + 5.20 246 246.10
ReEE RS SRR
15 T - L0y T o 1.1 1.13
0.023 t/m X 0.10 m X 4922 m = 1.13




81

HPE ¢ 150 EEL= 23550 m PEIEAREREE = 10 cm MRS 10
TRt = cm REEELt= 3 cm BBREt= 16
4% B | mo® o+ 1 TIX+HPE ¢ 15043% T &ZHE A S 14
ElE T T As, t=10cmll T 235.50 X 2.00 m 471.0
EEERREVEEL T As, t=10cmBA T 235.50 X 0.55 nt 129.5
AL vE + 235.50 X 0.59 m 138.9
HORL T RC-40 235.50 X 0.23 i 54.2
B RLT w 235.50 X 0.29 i 68.3
A WE+ 235.50 X 0.59 m 138.9
M T 138.90 m 138.9
PRI As 129.50 X  0.10 m 12.95
FRBLAL 2 As m 12.95
T FAAs, t=3cm 235.50 X  0.55 m 129.5
AR T RC-40, t=16cm 235.50 X 0.55 nf 129.5
X[ R T W=15cm, 235.50 m 235.5




T+ T

B B =

1 T.[X-HPE ¢ 15043% T ¥ et

HRME)= 090 m

HPE ¢ 150 P HIE (W) RIE(C)
EAME(D2) 0.180 IS (W) 0.55 + = 0.55 m
HRHE (W) R (H1) IR o
Al &= 0.55 X ( 0.8 0.180 + 0.1)=  0.59 m
HRHIE (W) R (H1) AMBIE()
R = 0.55 x( 0.87 0.3 - 0.16)=  0.23 m
HRHIE (W) RO HE B (1) RS
WOHL R = 0.55 X  0.580 0.0254 = 0.29 m
PR
FAE E = 0.59 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
X5y e EIME i HIhE D2:[ 10 BHME 180
1 [PP¢13 21.5 0.55 W: |10 HEHIE 0.55
2 [PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [DGX¢ 75 93.0 0.55 o
8 |DGX ¢ 100 118.0 0.55
R .
9 |DGX ¢ 125 143.0 0.55
10 [HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [pex ¢ 250 271.6 0.60 .
13 |DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 = a
15 |DGX ¢ 400 425.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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0¢

HPE ¢ 100 ERL=  5.40 SR XAS
KAt = t=

& Wk 1 TXHPE ¢ 10043 T &FE
EhRALEIWT T As, t=10cmPL T 5.40 X 2.00 10.8
EERRIVEEL T As, t=10cmbl F 540 X 0.55 3.0
R T W+ 0.56 X  5.40 3.0
HHRLT. RC-40 0.23 X  5.40 1.2
HLHEREL T 1w 0.28 X  5.40 1.5
A e WHE + 0.56 X  5.40 3.0
HeHh T 3.00 3.0
FROHALER As 3.00 0.10 0.3
TSR H As 0.3
FE L F/EAs, t=3cm 5.40 0.55 3.0
AT RC-40, t=16cm 5.40 0.55 3.0
IR L W=15cm, H 5.40 5.4




+ I B B *

1 T.[X -HPE ¢ 100A8% T X B ERIE) = 0.90 m
HPE ¢ 100 P HIE (W) RIE(C)
EAME(D2) 0.125 S (W) 0.55 + = 0.55 m
HRHE (W) R (H1) AR o
Al &= 0.55 X ( 0.80 + 0.125 + 0.1)=  0.56 m
HRHIE (W) R (H1) AMBIE()
R = 0.55 x( 087 - 030 - 0.16)= 023 m
e (W) WHLRIE (h1) e e
WOHL R = 0.55 X 0.53 - 0.0123 = 0.28 m
PR
FAE E = 0.56 m
B R (H1) 13, SR BR v
D2 AME— T 5% (um)
S s BHME R D2:| 8 EHME 125
1 [PP¢13 21.5 0.55 W:| 8 S HI g 0.55
2 [PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [DGX¢ 75 93.0 0.55 o
8 |HPE ¢ 100 125.0 0.55
N -
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 B )
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(e

HPE ¢ 75 EREL=  5.20 SRSy
KAt = t=

TR Wk 1 X HPE ¢ 10048 LEEHE
EhRALEIWT T As, t=10cmPL T 520 X 2.00 10.4
EERRIVEEL T As, t=10cmbl F 520 X 0.55 2.9
R T wE + 0.54 X  5.20 2.8
HHRLT. RC-40 0.23 X  5.20 1.2
HH R T b 0.26 X  5.20 1.4
A e WHE + 0.54 X  5.20 2.8
HeHh T 2.80 2.8
FROHALER As 2.90 0.10 0.3
UL B As 0.3
FE L F/EAs, t=3cm 5.20 0.55 2.9
AT RC-40, t=16cm 5.20 0.55 2.9
PR T W=15cm, H 5.20 5.2




+ I B B *

1 T.[X -HPE ¢ 100A7% T ¥ HFRME)= 090 m
HPE ¢ 75 P HIE (W) R (C)
B (D2) 0.090 R (W) 0.55 + = 0.55
g (W) BR(HL) EHME By
Al &= 0.55 X ( 0.8 + 0.090 + 0.1)= 0.54 m
e (W) ER(HL) WMREE M) AR
R = 0.55 x( 0.87 - 0.3 - 0.16)= 023 m
e (W) WHLRIE (h1) e e
WOHL R = 0.55 X 0.490 - 0.0064 = 0.26 m
PR
FAE E = 0.54 m

SR () 1 AR I

D2: A —E R (nm)

X5y e EIME S HIhE D2:| 7 BHME 90
1 [PP¢13 21.5 0.55 W:| 7 S e 0.55
2 |PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
7 |HPE¢ 75 90.0 0.55 o
8 |DGX ¢ 100 118.0 0.55
AN
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _| o<
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05
16 |DNS ¢ 450 476.8 1.10
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Ve

4% B | mo® o+ BRI 2TXAR T THEHE W % B | m om
HPE HPE HPE PP PP PP PP
¢ 150 ¢ 100 ¢ 75 ¢ 50 ¢ 25 ¢ 20 ¢ 13
EL )W T As, t=15cmPL 319.20 + 10.80 + 10.00 + 1.00 + 5.00 + 9.00 16.00 | m 370 371.00
HEERREEL T As, t=10cmbBLF 87.80 + 3.00 + 280 + 030 + 1.40 + 2.50 4.40 m 102 102.20
I L e+ 100.50 + 3.20 + 290 + 030 + 1.00 + 1.80 3.20 i 113 112.90
MO RLT RC—40 36.70 + 1.24 + 1.10 + 010 + 020 + 0.40 0.70 i 40.4 40.44
HHRLT W 46.30 + 1.50 + 140 + 0.10 + 060 + 1.00 1.80 nf 53 52.70
A T IE WE+ 100.50 + 3.20 + 290 + 030 + 1.00 + 1.80 3.20 m 113 112.90
Heph T 100.50 + 3.20 + 290 + 030 + 1.00 + 1.80 3.20 i 113 112.90
PO As 351 + 012 + 0.1 + 0.01 + 0.06 + 0.10 0.18 i 4.1 4.09
PRy B As 351 + 012 + 011 + 001 + 006 + 0.10 0.18 m 4.1 4.09
#JE T F/EAs, t=3cm 87.80 + 3.00 + 280 + 030 + 1.40 + 2.50 4.40 nf 102 102.20
AT RC-40, t=16cm 87.80 + 3.00 + 280 + 030 + 1.40 + 2.50 4.40 nf 102 102.20
RHEE EE ]S SR YIMIER
15 T TE - L5y T ot 0.3 0.341
0.023 t/m x 0.04 m X 371.0 m 0.341




HPE ¢ 150 EEL= 159.60 m BRH=  0.90 m PERRAREIE SRR = 4 cm BV

G¢

FHRE = cm EEEt= 3 cm BBREt=
4 m | B %+ W 2T X +HPE ¢ 150A% T EHE gl % &

S T As, t=10cmPl F 159.60 X  2.00 m 319.2
SPERRRVEEL T As, t=10cmbl 159.60 X  0.55 i 87.8
AT vE + 0.63 X 159.60 m 100.5
HHRL T RC-40 0.23 X 159.60 i 36.7
B RLT w 0.29 X 159.60 mt 46.3
A T WHE + 0.63 X 159.60 mf 100.5
M T 100.50 m 100.5
FREBRALPR As 87.80 X  0.04 m 3.51
FRBLAL )2 As m 3.51
FE T FEAs, t=3cm 159.60 X  0.55 m 87.8

AT RC-40, t=16cm 159.60 0.55 m 87.8

X




+ T Z E =Fw
2T.[X -HPE ¢ 150A5% T X &35 HRED= 0.90 m
HPE ¢ 150 bR (W) RKHRE (C)
B (D2) 0.180 HE g (W) 0.55 + = 0.55 m
1 5 (W) R (HD) AR i
RH 8= 0.55 X ( 0.86 + 0.180 + 0.1)=  0.63 m
1 (W) B (HD) BHEER) R
R = 0.55 X ( 0.87 - 0.30 - 0.16)=  0.23 m
PEHIIE (W) WOHERIE (h1) TR
WOHL B = 0.55 X 0.58 - 0.0254 = 0.29 m
RS
R ER = 0.63 nf
XA R (H1) (3, Sl 2 H Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 10 EHME 180
1 |[PP$13 21.5 0.55 W: |10 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 |[DGX ¢ 75 93.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢ 125 143.0 0.55 N
10 [HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX 6 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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L3¢

HPE ¢ 100 ERL=  5.40 SERX A
RIZ L= Hi=

TR T I T - 2T X <HPE ¢ 10043 T EHE )
EhRALEIWT T As, t=10cmPL T 5.40 X 2.00 10.8
EERRIVEEL T As, t=10cmbl F 540 X 0.55 3.0
R T W+ 0.60 X  5.40 3.2
HHRLT. RC-40 0.23 X  5.40 1.24
HLHEREL T 1w 0.28 X  5.40 1.5
A e WHE + 0.60 X  5.40 3.2
HH T 3.20 3.2
FRILALEE As 3.00 0.04 0.12
TR H As 0.12
KT FEAs, t=3cm 5.40 0.55 3.0
AR T RC-40, t=16cm 5.40 0.55 3.0




+ T Z E =
2 T.[X-HPE ¢ 1004k T &5 HRED= 0.90 m
HPE ¢ 75 IR (W) RKIRE (C)
B (D2) 0.125 HE g (W) 0.55 + 0.55 m
HRHIE (W) R (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.125 + 0.1)=  0.60
HRHIE (W) B (HD) RN
R = 0.55 X ( 0.87 - 0.3 - 0.16)= 0.23
PEHIIE (W) WOHERIE (h1) TR
WOHL B = 0.55 X 0.53 - 0.0123 = 0.28 m
RS
A+ = 0.60 ni
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5 H O B S 1 g D2:| 8 EHME 125
1 |[PP$13 21.5 0.55 W:| 8 e 0.55
2 [PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
6 [PP¢50 60.0 0.55
7 |DGX ¢ 75 93.0 0.55
8 [HPE ¢ 100 125.0 0.55
9 |pcxe 125 125.0 0.55 ED
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | o<
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX 6 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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63

HPE ¢ 75 IER1L= 5.00 SR XAS
RIZ L= Hi=

4% N S S = 2T [X+HPE ¢ 1A% THEFHA 2
SHAE G T As, t=10cmPL T 5.00 X 2.00 10.0
EERRIVEEL T As, t=10cmbl F 5.00 X 0.55 2.8
R T wE + 0.58 X  5.00 2.9
HHRLT. RC-40 0.23 X  5.00 1.1
HH R T b 0.28 X  5.00 1.4
A e WHE+ 0.58 X  5.00 2.9
HH T 2.90 2.9
FRILALEE As 2.80 0.04 0.11
FRELASH As 0.11
FE L F/EAs, t=3cm 5.00 0.55 2.8
AT RC-40, t=16cm 5.00 0.55 2.8




X T Z E =
2T.X +HPE ¢ 7T5A 5% T R34 HERMHEH) = 0.90 m
HPE ¢ 75 IR (W) RKIRE (C)
B (D2) 0.093 HE g (W) 0.55 + = 0.55 m
1 5 (W) R (HD) AR i
RH 8= 0.55 X ( 0.86 + 0.093 + 0.1)=  0.58 m
1 (W) B (HD) BHEER) R
R = 0.55 X ( 0.87 - 0.3 - 0.16)= 0.23 i
PEHIIE (W) WOHERIE (h1) TR
WOHL B = 0.55 X 0.525 - 0.0068 = 0.28 m
RS
R ER = 0.58 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5 H O B S 1 g D2:| 7 EHME 93
1 |[PP$13 21.5 0.55 W: |7 e 0.55
2 [PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 |HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢ 125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - 3
15 [DGX 6 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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Ie

PP ¢ 50 EEL=  0.50 IR XSS
RIZ L= Hi=

TR Wk 2TX PP ¢ 5043 LEEFHE R
SHAE G T As, t=10cmPL T 0.50 X 2.00 1.0
EERRIVEEL T As, t=10cmbl F 0.50 X 0.55 0.3
R T wE + 0.56 X 0.50 0.3
HHRLT. RC-40 0.23 X 0.50 0.1
HH R T b 0.25 X 0.50 0.1
A e WHE+ 0.56 X  0.50 0.3
HH T 0.30 0.3
FRILALEE As 0.30 0.04 0.01
FRELASH As 0.01
FE L F/EAs, t=3cm 0.50 0.55 0.3
TERET RC-40, t=16cm 0.50 0.55 0.3




+ T & B =x
2 T.[X PP ¢ 504 % T A&t 5 HERAD= 0.90 m
PP ¢ 50 HE I (W) RKHIRE (C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
1 5 (W) R (H) AR i
RH 8= 0.55 X ( 0.86 + 0.060 + 0.1)=  0.56 m
1 (W) R (H) BHEER) R
R = 0.55 X ( 0.87 - 0.3 - 0.16)= 0.23 i
PEHIIE (W) WOHERIE (h1) TR
WOHL B = 0.55 X 0.460 - 0.0028 = 0.25 m
RS
R ER = 0.56 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5 H O B S 1 g D2:| 6 EHME 60
1 |[PP$13 21.5 0.55 W:| 6 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 C g W || o
8 [DGX ¢ 100 118.0 0.55 |
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX 6 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 ) B
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€e

PP ¢ 25 EEL=  2.50 SRR A4
RIZ L= Hi=

TR Wk 2TX PP ¢ 256K FR THEFHH R
SHAE G T As, t=10cmPL T 2.50 X 2.00 5.0
EERRIVEEL T As, t=10cmbl F 2.50 X 0.55 1.4
R T wE + 0.41 X  2.50 1.0
HHRLT. RC-40 0.09 X  2.50 0.2
HH R T b 0.24 X  2.50 0.6
A e WHE+ 0.41 X  2.50 1.0
HH T 1.00 1.0
FRILALEE As 1.40 0.04 0.06
FRELASH As 0.06
FE L F/EAs, t=3cm 2.50 0.55 1.4
TERET RC-40, t=16cm 2.50 0.55 1.4




+ T Z E =
2 T.[X PP ¢ 25A5% T A &t 5 HERA)= 0.65 m
PP ¢ 25 HE I (W) RKHIRE (C)
EHME(D2) 0.034 HE g (W) 0.55 + = 0.55 m
1 5 (W) B (H1) AR i
RH 8= 0.55 X ( 0.61 + 0.034 + 0.1)= 0.1 m
1 (W) B (HD) BHEER) R
R = 0.55 X ( 062 - 0.3 - 0.16)=  0.09 i
PEHIIE (W) WOHERIE (h1) TR
WOHL B = 0.55 X 0.434 - 0.0009 = 0.24 m
RS
R ER = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 3 EHME 34
1 |PP¢13 21.5 0.55 W:| 3 e 0.55
2 |[PP¢20 27.0 0.55
3 |[PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
TGS _
9 [DGX¢125 143.0 0.55
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - 3
15 [DGX 6 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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Ge

PP ¢ 20 SEEL= 450 m BRH= 065 m PR AHAE R - SRR = 4 BHNEIX Sy 2
MRt = cm Bz Et= 3 PR = 16
4 ook b 2T X PP ¢ 2083 THEFHR whr| o % & 1
S T As, t=10cmPl T 4.50 X 2.00 m 9.0
HEERRRVEEL T As, t=10cmPL T 450 X 0.55 nf 2.5
P T WHE 1 0.41 X  4.50 m 1.8
HORL T RC-40 0.09 X  4.50 i 0.4
B RLT W 0.23 X 4.50 mt 1.0
A T WHE+ 0.41 X  4.50 mf 1.8
M T 1.80 m 1.8
FRBRALEE As 2.50 X 0.04 m 0.10
FRBLAL )2 As m 0.10
FE T A As, t=3cm 450 X 0.55 i 2.5
T A RC-40, t=16cm 450 X 0.55 m 2.5




T T

B B

B

2 T.[X PP ¢ 204 5% T Er &t 5 HERA)= 0.65 m
PP ¢ 20 HE I (W) R (C)
EHME(D2) 0.027 HE g (W) 0.55 + = 0.55 m
1 5 (W) R (HD) AR i
RH 8= 0.55 X ( 0.61 + 0.027 + 0.1)=  0.41 m
1 (W) B (HD) BHEER) R
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09 i
PEHIIE (W) WOHERIE (h1) TR
WOHL B = 0.55 X 0.427 - 0.0006 = 0.23 m
RS
R ER = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5 H O B S 1 g D2:| 2 EHME 27
1 |PP¢13 21.5 0.55 W:| 2 e 0.55
2 |PP¢ 20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 93.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢ 125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX 6 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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LE

PP¢ 13 IERL = 8.00 SR XAS
RIZ L= Hi=

TR Wk 2TLX PP ¢ I3AFRITEEFHH R
SHAE G T As, t=10cmPL T 8.00 X  2.00 16.0
EERRIVEEL T As, t=10cmbl F 8.00 X  0.55 4.4
R T wE + 0.40 X  8.00 3.2
HHRLT. RC-40 0.09 X  8.00 0.7
HH R T b 0.23 X  8.00 1.8
A e WHE+ 0.40 X  8.00 3.2
HH T 3.20 3.2
FRILALEE As 4.40 0.04 0.18
FRELASH As 0.18
FE L F/EAs, t=3cm 8.00 0.55 4.4
TERET RC-40, t=16cm 8.00 0.55 4.4




+ T & E =
2 T.[X PP ¢ 13AGR TE &5 HERA)= 0.65 m
PP ¢ 13 S e (W) R (C)
EHME(D2) 0.022 HE g (W) 0.55 + 0.55 m
HRHIE (W) R (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.022 + 0.1)=  0.40
HRHIE (W) B (HD) RN
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09
PEHIIE (W) WOHERIE (h1) TR
OB 0.55 X 0.422 - 0.0004 = 0.23 m
RS
A+ = 0.40 ni
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y e B H 1 g D2:| 1 EHME 21.5
1 |PP¢13 21.5 0.55 wW:| 1 SR e 0.55
2 PP 20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 [PP¢50 60.0 0.55
7 |HPE ¢ 75 93.0 0.55
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX 6 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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6¢

& | B Ok BEEFATHIN STRARR +THKE & | o=
HPE HPE HPE PP
¢ 150 ¢ 100 0175 ¢ 50
EL )W T As, t=15cmPL 40.00 10.80 + 61.80 + 4.00 120 116.60
EREREEL T As, t=10cmPL T 11.00 3.00 + 17.00 + 1.10 32 32.10
i e+ 12.60 3.20  + 17.90 + 1.10 35 34.80
M RLT RC—40 4.60 .20 + 7.00 + 0.50 13 13.30
HHRLT W 5.80 1.50  + 8.00 + 050 16 15.80
A T TEH WEt 12.60 3.20  + 17.90 + 1.10 35 34.80
Hehh T 12.60 3.20  + 17.90 + 1.10 35 34.80
PR AL As 0.44 0.10 + 070 + 0.04 1.3 1.28
PRy B As 0.44 0.10 + 0.70 + 0.04 1.3 1.28
#JE T F/4EAs, t=3cm 11.00 3.00 + 17.00 + 1.10 32 32.10
AT RC-40, t=16cm 11.00 3.00 + 17.00 + 1.10 32 32.10
RS SHRMYIMIE R
15 T - L5y T 0.1 0.11
0.023 t/m X 0.04 m




ov

HPE ¢ 150 HEEL=  20.00 m Ht= 4 AN 10
FARE L = cm t= 3 AR = 16
% 0w | B %k o+ & 3T.X +HPE ¢ 1504 T EHE W | % & 14
ElE T T As, t=10cmll T 20.00 X  2.00 m 40.0
EEERREVEEL T As, t=10cmBA T 20.00 X 0.55 nt 11.0
AL vE + 20.00 X  0.63 m 12.6
HORL T RC-40 20.00 X  0.23 i 4.6
B RLT w 20.00 X 0.29 i 5.8
A WE+ 20.00 X  0.63 m 12.6
M T 12.60 m 12.6
PRI As 11.00 X  0.04 m 0.44
PRI # As m 0.44
T A As, t=3cm 20.00 X  0.55 m 11.0
FEAR T RC-40, t=16cm 20.00 X 0.55 nf 11.0




+ T F B £
3T.[X -HPE ¢ 150 A% T A &5 ERIE) = 0.90 m
HPE ¢ 150 P FIE (W) RIE(C)
EAME(D2) 0.180 S (W) 0.55 + = 0.55 m
HRHE (W) R (H1) AR o
Al &= 0.55 X ( 0.86 0.180 + 0.1)=  0.63
HRHIE (W) R (H1) AMBIE()
R = 0.55 x( 0.87 0.3 - 0.16)=  0.23
HRHIE (W) RO HE B (1) RS
WOHL R = 0.55 X  0.580 0.0254 = 0.29 m
PR
FAE E = 0.63 m
B R (H1) 13, SR BR v
D2 : &4 — 3% ()
X5y e EIME EHIE D2:[ 10 BHME 180
1 [PP¢13 21.5 0.55 W: |10 S H g 0.55
2 [PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
R .
9 |DGX ¢ 125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [pex ¢ 250 271.6 0.60 .
13 |DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 = a
15 |DGX ¢ 400 425.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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4%

HPE ¢ 100 ERL=  5.40 SR XAS
KAt = t=

TR Wk 3TLX+HPE ¢ 10043 T E5tH
EhRALEIWT T As, t=10cmPL T 5.40 X 2.00 10.8
EERRIVEEL T As, t=10cmbl F 540 X 0.55 3.0
R T wE + 0.60 X  5.40 3.2
HHRLT. RC-40 0.23 X  5.40 1.2
HH R T b 0.28 X  5.40 1.5
A e WHE + 0.60 X  5.40 3.2
HeHh T 3.20 3.2
FROHALER As 3.00 0.04 0.1
52 U As 0.1
FE L F/EAs, t=3cm 5.40 0.55 3.0
AT RC-40, t=16cm 5.40 0.55 3.0




+ I B B *

3T.X HPE ¢ 100A55% T it HFRME)= 090 m
HPE ¢ 100 P HIE (W) RIRE(C)
EHME(D2) 0.125 IR (W) 0.55 + = 0.55
I (W) R (H1) AR i
Al &= 0.55 X ( 0.86 + 0.125 + 0.1)=  0.60 m
HRHIE (W) R (H1) WU
R = 0.55 x( 0.87 - 0.3 - 0.16)= 023 m
e (W) WHLRIE (h1) e e
WOHL R = 055 X  0.525 - 0.0123 = 0.28 m
PR
FAE E = 0.60 m

KA R (HD) 13, e S HI PR S

D2: A —E R (nm)

X5y B fd BHME PEHHE D2:| 8 BN 125
1 [PP¢13 21.5 0.55 W:| 8 S H g 0.55
2 PP ¢ 20 27.0 0.55
3 PP 25 34.0 0.55
4 PP ¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
6 |PPo50 60.0 0.55
7 |pGx ¢ 75 93.0 0.55 .
8 |HPE ¢ 100 125.0 0.55
AR s
9 |DGX 6125 143.0 0.55
10 |DGx 6 150 169.0 0.55
11 |DGX 6 200 220.0 0.60 =
12 |DGx ¢ 250 271.6 0.60
13 |DGX 6 300 322.8 0.70 | =
14 |DGX 6 350 374.0 0.70 - X
15 |DGX 6 400 425.6 1.05
16 |DNS ¢ 450 476.8 1.10 R )
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4%

HPE ¢ 75 EEL=  30.90 SRR A4
KAt = t=

% 7 N 5 3TLXHPE ¢ 64 5% LEEFE Bt
e T As, t=10cmPL T 30.90 X 2.00 61.8
SPERRRVEEL T As, t=10cmbl 30.90 X  0.55 17.0
AT WHE 1 0.58 X  30.90 17.9
MW RLT RC-40 0.23 X 30.90 7.0
B RLT w 0.26 X  30.90 8.0
A T wE + 0.58 X  30.90 17.9
M T 17.90 17.9
PO As 17.00 0.04 0.7
FRURAL > # As 0.7
FE L A As, t=3cm 30.90 0.55 17.0
AT RC-40, t=16cm 30.90 X  0.55 17.0




45

+ T F B £
3T.IX -HPE ¢ T5A3% T A &5 HRAI)= 0.90 m
HPE ¢ 75 P HIE (W) R (C)
BHME(D2) 0.093 P HIE (W) 0.55 + = 0.55 m
g (W) BR(HL) EHME By
Al &= 0.55 X ( 0.86 + 0.093 + 0.1)=  0.58 m
e (W) ER(HL) WIREE M) AR
R = 0.55 x( 0.87 - 0.3 - 0.16)= 023 m
e (W) WHLRIE (h1) e e
WOHL R = 0.55 X 0.493 - 0.0068 = 0.26 m
PR
FAE E = 0.58 m
B R (H) 13, SR BR v
D2 : &4 — 3% ()
X5y e EIME S HIhE D2:| 7 BHME 93
1 [PP¢13 21.5 0.55 W:| 7 S H g 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
7 |HPE¢ 75 90.0 0.55 C i W 6
8 |DGX ¢ 100 118.0 0.55 |
AN -
9 |DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60 I
12 [DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 | o=
14 [DGX ¢ 350 374.0 0.70 - 3
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10




PP ¢ 50 EEL=  2.00 m BRH=  0.90 m PERRARIEIE A REE = 4 cm BAMRIX S

9v

FMEL= cm REEt= 3 cm KBBREt=
TR T I T - 3LX +HPE ¢ 504 T EFHHE Bzl o®m &

EhRALEIWT T As, t=10cmPL T 2.00 X 2.00 m 4.0
EERRIVEEL T As, t=10cmbl F 2.00 X 0.55 m 1.1
R T wE + 0.56 X  2.00 m 1.1
HHRLT. RC-40 0.23 X 2.00 i 0.5
HH R T 1w 0.25 X 2.00 i 0.5
A e WHE + 0.56 X  2.00 nt 1.1
HH T 1.10 m 1.1
FRILALEE As 1.10 X 0.04 m 0.04
FRELASH As 0.04 i 0.04
FE L F/EAs, t=3cm 2.00 X 0.55 m 1.1

BT RC-40, t=16cm 2.00 X 0.55 m 1.1




+ I B B *

47

3T.[X-HPE ¢ 5043 T 3 a5 HRAI)= 0.90 m
PP ¢ 50 AR (W) RIE(C)
BHME(D2) 0.060 P HIE (W) 0.55 + = 0.55 m
g (W) BEXR(H) EHME By
Al &= 0.55 X ( 0.86 + 0.060 + 0.1)= 0.56 m
e (W) HXRH) WIREE M) AR
R = 0.55 x( 0.87 - 0.3 - 0.16)= 023 m
e (W) WHLRIE (h1) e e
WOHL R = 0.55 X 0.460 - 0.0028 = 0.25 m
PR
BB = 0.56 m
B R (H) 13, SR BR v
D2 : &4 — 3% ()
X5y e EIME S HIhE D2:| 6 BHME 60
1 [PP¢13 21.5 0.55 W:| 6 JE g 0.55
2 |PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [HPE¢ 75 93.0 0.55 o
8 |DGX ¢ 100 118.0 0.55
R -
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 | o=
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 ) )




87

FEHEE(XEFAERR]

RBHFEERER HIERE HBIE B4f-UITE HMIBEH(A) |18 YY%RE AL sasssmaseimn i
EKEE R
1IX
HPE ¢ 150| A 5% 2355 m 150 m 16.0 3.0 48.0
HPE ¢ 100| A 5% 54 m 150 m 1.0 3.0 3.0
HPE ¢ 75| ANE% 50 m 200 m 1.0 3.0 3.0
2T
HPE ¢ 150| A 5% 159.6 m 150 m 1.0 3.0 33.0
HPE ¢ 100| A 5% 54 m 150 m 1.0 3.0 3.0
HPE ¢ 75| ANE% 50 m 200 m 1.0 3.0 3.0
PP ¢ 50| ANE% 05 m 250 m 1.0 3.0 3.0
PP ¢ 25| ANE% 25 m 300 m 1.0 3.0 3.0
PP ¢ 20| ANE% 45 m 300 m 1.0 3.0 3.0
PP ¢ 13| ANE% 80 m 300 m 1.0 3.0 3.0
3T
HPE ¢ 150| A 5% 200 m 150 m 20 3.0 6.0
HPE ¢ 100| A 5% 54 m 150 m 1.0 3.0 3.0
HPE ¢ 75| ANE% 309 m 200 m 20 3.0 6.0
PP ¢ 50| ANE% 20 m 250 m 1.0 3.0 3.0
123.0
LoKE B RBEFEZRBEAREIIAN 123A/3= 41X

RBFEZMHREB(RRE2A

123A/3x2= 82\




